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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic
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(a)

Discuss in detail electrical activity associated with one contraction in
muscle.

List the different pressure transducers for measurement of blood pressure
and explain LVDT in detail.

Describe the different types of lead system for measurement of ECG.
Give the name of electrodes used for measurement of EEG. Describe any
two in detail.

OR

Draw and explain EEG machine block diagram.

What is the function of SA node? Classify the different types of pacemaker
and explain each in brief.
Explain principle of echo cardiography.
OR
What is fibrillation?Discuss in detail D.C defibrillator.
How ultrasonic foetal monitor work? Explain in brief.

What is the function of kidney? Draw and explain principle and working of
hemo dialysis machine.
State the different techniques for counting blood cell and describe in one in
detail.

OR
Draw and explain neat block diagram of electrical surgical machine.
How blood PH is measured? Describe in detail.

Give properties of x-ray. Draw neat block diagram of x-ray machine.
Write a short note of macrochock and microshock.
OR
Give the difference between x-ray technique and CT scan. Explain principle
of CT scan in detail.
Explain block diagram of EMG machine.
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